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package test;
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public class HelloWorldReQuestion {
- public static void main(String[] args) {

System.
System.
System.
System.
System.

out.println("1");
out.println("2\t2");
out.println("3\t3\t3");
out.println("4\t4\t4\t4");
out.println("S\E5\E5\E5\t5");
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|l package test;

3 public class Intl {
A /!0!0
* BWOERT
* args
*/
public static void main(String[] args) {
int a = 0; I
1 System.out.println("a®@{EE" + a);
11 System.out.printf("a®{EE%d", a);
17
E
14 }
1(_
=t=EEE
iNtBlDal WS ZEHZTE (Nt ICIEBMEZREFTE D)

- printin@ ()AD”" TEIE N :I—?O)fé [CaDENTRIREIND
- printf O ()ND%d E WS ERDICaDENRRE NS
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package testt

AL,

* String
*/
public class Stringl {

public static void main(String[] args) {
String word = "X F";

System.out.println(word);
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1 package test;

[ 4
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5

Mx_DODEE L. HEFAZFE

public class Int2 {

/!&*
* BEOEH
* 1 args
*/
public static void main(String[] args) {
int a = 1;
int b = 2;|
System.out.println("a®{EE" + a + ", bD{EIE" + b);
System.out.println("a+b®@{EE" + (a+b));
System.out.println("a-b®D{EIE" + (a-b));
System.out.println("a*b®D{EIL" + (a*b));
System.out.println("a/b®D{EIE" + (as/b));
}
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package test;

public class Increment {

- public static void main(String[] args) {
int a = 0;
System.out.println("#il");

10 System.out.println(++a);

1
2

I 3
] 4
5

6

7

8

9

11 System.out.println(--a);

12 System.out.println("HEOEWE" + a + "TIT");
13

14 System.out.println("&M");

15 System.out.println(a++);

16 System.out.println(a--);

17 System.out.printIn("BHEQERIE" + of + "TI");
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package test;
public class Int4 {

public static void main(String[] args) {

1
2
3
4
58
b
7
8
9

int a = 0;

System.out.

System.out.

a=a+ 4;

System.out.

System.out.

a += 4;

System.out.

System.out.

a=a - 2;

System.out.

System.out.

a -= 2;

System.out.

System.out.

a=a¥4;

System.out.

System.out.

a.-d;

System.out.

println(Ta®Eiz"

println("a+4");
printIn("a®iEiL"
println("a+d");

println(Ta®@id"

println("a-2");
printin("a®Eiz"
println("a-2");

printin(Ta®iEid"

println("a*4");
printIn("a®iEix"
println("a%*4");

println("a®AiL"

System.out.println("a/4");

a=al/4;

a);

a);

a);

a);

a);

a);

System.out.printin("a®Eid" + a);
System.out.printin("a/4");

a /= 4;

System.out.printin("a®{iz" + a);



aD{Eiz0
a+4

ad{E L4
a+4

a®D{& L8
a-2

aD{E L6
a-2
aDi{EiL4
a*4
a®D{EIL16
a*4
a®D{fL64
a/4
a®D{EL16
a/4
aD{EiL4
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- Import java.util.Scanner;

. Scanner scanner = new Scanner(System.in);

ANZITOBRIE L DX E E TR B,




1 package test;

! import java.util.Scanner;

6 public class Input {

public static void main(String[] args) {

Scanner scanner = new Scanner(System.in);

10 int numberl;
11 double number?;
12 System.out.print("EEOBBMEALLTLEZWV);
13 numberl = scanner.nextInt();
14 System.out.printf("AHDENIEEXdTIT\n", numberl);
15 System.out.print("EEOBEEADLTLLEZWVW);
16 number2 = scanner.nextDouble();
17 System.out.printf("ADNENEEEFTI\n", number2);
18 }
19 }

numberl = scanner.nextint();
<Tnumberl ICEZBEN AN UZEZKAT B,
number?2 = scanner.nextDouble();

Tnumber2iIc BB ENAN UIEZHRAT %, (number2iddoubleZ 2D T,
nextDouble() IC7& > TW3)

doubleBEDIZEprintf D ()N IE%d TR <. Bf=ERT 5,
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1 package test;

3 public class IntQuestion {

4= /**

5 * aD¥)HE 2

6 * bD¥)HE S

7 * aZ_RUICEDE

8 * bEZRULCESDERULUICEDERTR

9 */

10= public static void main(String[] args) {
11 int a = 2;

12 int b = 5;

13

14 System.out.println(a*a + b*b);
15 }|

16 }
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package test;

import java.util.Scanner;

& /**
* BEER
* A AU FZ 28T S
*/
public class InputQuestion {

- public static void main(String[] args) {
Scanner scanner = new Scanner(System.in);

System.out.print("BFEZANDLTIEZWN);
int number = scanner.nextInt();

System.out.println(number + "E2{ELIC¥FE"

+ number*2 4+ "TT");
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package test;
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public class IntQuestionBl{

S %

* METH
*/

public static void main(String[] args) {
int r = 3;

double

System.

System.

System.

System.

pi = 3.14;

out.printIn("¥EE"+r+"cmOEOEMIE"+(r*r*pi));

out.printIn("¥FE"4+r+"cmOADOHEDOEZE"+(2%r*pi));

out.printIn("¥FE"+r+"cmOBROXEMIL"+(4%pi*r*r));

out.println("¥EE"+r+"cmDIROEMIL"+(4/3%p1L¥r*r*r));
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package test;

import java.util.Scanner;

o /**
* EEER
* REREGHMEANULCSESENSETOERNERTREINS
*/
public class InputQuestion2 {

- public static void main(String[] args) {
Scanner scanner = new Scanner(System.in);

System.out.print("&FEADLTLLEZN);
String myouji = scanner.nextLine();

System.out.print("&FEAHDLTLEEZN");
String namae = scanner.nextLine();

System.out.print("SEHEAHDLTLEZWN");
int age = scanner.nextInt();

System.out.println(myouji + " " 4+ namae + "ZAEHE"

+ (65-age) + "ETERELSAET");



